cy wam ArEA

Hemchandracharya North Gujarat University PHD Exam

Exam Name : HNGU_PHD_Sociology 31.01.2024_03.00 PM TO 05:00 PM
Exam Date : 2024-01-31

Exam Time : 03:00:00 PM To 05:00:00 PM

Total Marks : 100

Note : The correct answer is indicated by the green color. ALl
¥cllol Glal 31 GlRL yUddIHi w1 8.

Question List:

Section: Section-A

In the classroom, when teacheir delivers lecture and send message either as words or images that
time students play role of -12lViSHi, AU (2lels cululsl WU B ol 2A0€] veld] 9uil ]
A3 A2 H1sA B B uMA (qareiluil efHst %A D [ 1 Mark |

= propagators - Yy RS)

= encoders - Wes1SY

= decoders - SI1S1S¥

= agitators - Aields513] 240

In certain coding method, the word ‘QUESTION” is encoded as ‘DOMESTIC’. In this coding,
what is the code word for the ‘RESPONSE”? - 54 S1(821 Ueg (i, 'ust' 2oea 'Sl Res
AL} Vesls scliui w1d 8. w1 S1USIUE, 'RAUA" HI SIS 216e 2 B? [ 1 Mark |

= OMESUCEM
= OMESICSM
= OMESICEM
= OMESISCM

Look the following series and mark the missing terms in these series. 5, 6, 7, 8, 10, 11, 14, 2, 2, 19
of|Aoil AN Y2l v1a 211 ARUI vedl 210eld RilEd s, 5, 6,7, 8, 10, 11, 14, 2, 2, 19 [ 1 Mark |

= 17,10
= 15,10
= 15,19
= 21,10

‘Skirmish’ is related to ‘“War’ in the same way as ‘Disease’ is related to - "MeISIMSL' A Yeg' 1D
Ad] o 2d eiltd B 2 d A1 A8l Aoildd & [ 1 Mark |

» Infection - AU

= Epidemic - A2l
= Patient - £€1

» Medicine - €91

Choose the pair/group of words that show the same relationship as given — Summer : Raining -
Choose the pair/group of words that show the same relationship as given — Summer : Raining [ 1



Mark |

December : January - [SAr042: °o1°?;!,?1~ll?1
Monday : Sunday - HIHdIR: AddrR

= Summer : Winter - Gell01l : [211101)

= License : Driving - @184y SI©(d2l

Which of the following is the correct order of the four major functions of a computer? - 8])-12;122*’1[
Y12 Yo sATH «flAetiHiell sl sH AU B? [ 1 Mark |

= Process, Output, Input, Storage - Ll[glll, 2*[[@813,8, Blyce, R1%

» Input, Output, Process, Storage - &142, w@aga, Ll@lll, HAs

= Process, Storage, Input, Output - u(sul, AAe, peiye, WlBeye

s Input, Process, Output, Storage - &e1yc, Lna%l, mlGaga, 1%

Word processing, Spreadsheet and photo-editing are example of - as u]aﬁial, Alseile wa {s]él-
(S22l def Ge1&WL & [ 1 Mark |

= application software - V) [ ¥91e1 ansaaz

= system software - [R1eu zﬂsaaa

» operating system software - A2 [ReH A1sedR
= platform software - lﬂash[ aﬂsaaz

A computer possesses information - $12|2 A Hiledl slu 8 [ 1 Mark |

= Atonce - dd %

» As directed by the operator - wlye: &lkl (£ (21d
= Automatically - AN ETTAT]

» Gradually and eventually - e1A Hl e B

Which is the largest unit of storage among the following? - E D ETRIE i"l%lé{i Alefl 3-n§ N SEi,
82 [ 1 Mark |

Terabyte - UGB
Megabyte - 21641852
Kilobyte - [5€l611e52
Gigabyte - {1ILL641€52

Bit stands for -Binary information term [ 1 Mark |

= binary digit - [fgaoﬂ s

= Binary tree - @aoﬂ qél

= Bivariate Theory - ({11432 (2U3]

= Binary information term - W18a3] HLledl 210t

Proficiency test always assesses [ 1 Mark |

level of language that learners have reached
language that students have been taught

the multisensory learning experiences

the language of daily conversation

Which one among the following test measures the language skills naturally? [ 1 Mark |

= objective
= Subjective
= MCQ type
= reading

Basic requirement of a language proficiency test is that it must be [ 1 Mark |
= complex
= simple
= reliable
= ambiguous



‘cloze’ means — [ 1 Mark |

finishing
missing part
close
assessing

V is the brother of W, W is the brother of X, X is the husband of Y and Z is the father of V. Y is
related to Z as- VA Woll IS &, WA X oll 1S &, X A Yol Uld S W Z A Vel (Ul 8. Y
2] 7 18l Aoildd 8. [ 1 Mark |

daughter-in- law -YAdY
daughter - 1;1,7[1
sister-in-law - @{16{]

sister - &l&sl

In case of planning to do social research, one must - Al L[S AAlust 5]lq] W A%l scloll
(SULUI, V1S % X1SW [ 1 Mark |

do a pilot study before getting stuck into it - AU U1 d USHL ULBE2 weA 1Y 51

be familiar with literature of the topic - [ANUeil UllSU] YRR ¢{si]

forget about theory because this is a very practical - ﬁiiﬂ,id (aQl (‘Lc‘n A2 511 5 | Wol
% Adsl> 8

approach the topic with an open mind - Veal Hotefl [ANYUs{l 24US 530

Which one among the following is a non-probability sampling? - EDETRIE S?J', (cyet- ettt
olYyell 82 [ 1 Mark |

Simple random - 301 54
Purposive - éqq&ﬂ
Systematic - RId [Raid
Stratified - ¥d31sd

Which type of question (s) are investigated in exploratory research design? Codes: a. Why is it? b.
What is it? c. How is it?

R2lltellals AAlel [SHIBIHL sUL USIReLL Usllell dULY sCALM 241d B2 S15U: 3. d AL HI2
82 b 312 8? cd3dlAd 821 Mark |

aonly -aHlAd

a&conly-a&cHlA
b&conly-b&cHlA
a,B&c-a,BN:‘lc

In case of collecting data from non-literate communities, which method is more suitable - (4et-
AleR AYelAluiell 321 As[HAd sdlell (SRULMI, 56 Uegd ay A12U B [ 1 Mark |

Observation - {d Sl
Questionnaire - usiladl

Both - 6ia

None of these - GUsdHiell 516 o1&l

What is the purpose of case study method? -3y esl uegf&oﬂ éql, Qj 82 [ 1 Mark |

to relate it to select relationships of a phenomenon - Aal eleetlell Uiedflell Aoitl 12
Aoifdd s2al

To generalize about relationships - doid) (9l AMI{]S5W 59

to %Xplore desired relationships of a phenomenon - &l2eileil & [Re9d %{U{tnﬂ WANQl 57
Hl

to explore maximum possible relationships of a phenomenon - &2¢elleil HStlH detldd
Aovitlle] wedNBL sAL UL



e When one variable is qualitative and another variable is quantitative, which measure will be for
finding covariation between them? - 2RI s UC IBLLHS S1U ol ol U seellds Sl AR
Auefl g sllq2uet Al Hi2 3 HIM S22 [ 1 Mark |

Chi square - SIENER

Yule’s (Q) - 44 (Q

Rank correlation (P) - Fo% AsAoiY P)
Phi coefficient - §1 LS

e In ‘yvhich research design hypothesis is not necessarily required? - 54l A2Alusui (SHLoet
YduRRUL %3] «1efl? [ 1 Mark |

Descriptive - qb.’[clld-l.‘s
Experimental - UIRAGLS
Diagnostic - SI4211R2S
Exploratory - lywlo

e Which of the following takes into account quantity of a position in the array? - D ETRIE .’slj,
M| @Uletell %seellol tuleiHi A 872 [ 1 Mark |

Mean - Hlel

Mode - H1S

Median - HYYS

All of these - GURA S dHIH

¢ Select the correct Statistic for the term — Qualitative - 210¢ HI2 YWY WSS UAE 52 - ILLeHS |
1 Mark |

Tabulation variable - 2u}}@Qlel Y&
Sampling Variable - Anu(dor 4Aug
Attributes distribution - [ANd1\e} ([AdL
= Deviation - [AUdsi

¢ Social research utilizing intensive study of a single instance of social phenomenon as data -

ALMHLCsS 20Ut Sl dd ALHL[FS eeollell V18 % GeleAUell A elol WALl GUUIL ST |
1 Mark |

» Questionnaire - Y%l lad]
= . Case Study -3y esl
s Interview - Y2

= Survey ud

e When a particular technique is applied repeatedly to the same object producing the same result
each time, it is said to have - 2RI S1¢ ULssAU 25[615 W§ % A3 UR ARAIR CI12] SALHi AId &
% €35 duld AHlel URBIH Gzt 528, AR d Sldlef s&dld & [ 1 Mark |

= Subjectivity - U (Sdcd

= Probability - @éilcleil

= Validity - Hle¥dl

» Reliability - (A8 eflAdl

e A written list of questions filled out or responded to in writing by a respondent as a data gathering
technique in social research - UIHL[%¥S AAtAUI S21 V157 s2clell dseils dLE uldalel glri
erR1Ad1 Aedl Afudui sale vudidi 21del usilel AMud JR1[ 1 Mark |

Questionnaire - usildel
Reliability - [l ¥l
Interview - §e22]
Validity - Hls¥dl

e A quality attributed to propositions on measures to the degree to which they conform to established
knowledge or truth [ 1 Mark |



Questionnaire - Y%l lad]
Reliability - [ {4l
Interview - 8e2]
Validity - Hle¥dl

Variable that changes for reasons that have nothing to do with the dependent variable - 4 %3 wdl
SRRNU Gedld O 3 Bal viLl8id U4 AL 16 Adikal «tefl [ 1 Mark |

. Independent Variable R Y
Dependent Variable - ALBd ug
Intervening Variable - pe22(dol dRA g
Moderating Variable - NN REFASIRS RN AL

The data can be categorized and ranked in which type of Scale - S2lal $UL USslRell 36U qDﬂ.ﬁd
Vol sHil5d 53] ASIU D [ 1 Mark |

» Ordinal - ¥{\[Seid
= Interval - Y14
» Nominal - sllHi(5c
= Ratio - 2lldR

According to Ethnomethodologists, which type of reasoning is used by people? -
Aelsil Nl SIEl [F2U BefUIR, Clsl IR $UL USIReLL dSell GUAULIL $ALM 341d 82 [ 1 Mark |

= Deductive Reasoning - [ss(sed Ry (siat

= Inductive Reasoning - WS ds

= Practical Reasoning - W(sesd Rxleia1

» Decompositional Reasoning - [Aelesilcis ds

A set of techniques used to measure attractions and repulsions during inter-personal relation‘g in
quantitative and diagrammatic terms is known as — Vid-cUSedld oibl e(UL AISNRI
wa Uldgndia Hiudl Hi2 duldl dsellslell 24 weellais wal Qullsdedl ¢[B3 wlanwiy
&®-[1Mark ]

= Sociometry - H]@llnﬂa

= Social Survey - UMLCrs »d

= Quantitative method - UlHLCss ud
= Social Statistics - UM L[S isSL

In participant observation method, the observers can collect material from a group to a large
extent if he/she acts- - & 12{] zthcastﬂ Ueg(dui, [c13lais) auniel Hlet waiiHi A1l
As[Ed 530 23 O % A/ARil s12 52- [ 1 Mark |

= emotionally - HldellcHS 2d
= passively - SIS

= objectively - G22UYds

= subjectively - U (sdqel Ja

Field study is a method of research in which the observations are taken in the — a’ﬁl ALY
A2Alustofl A8 Uegld & BUi wAd]Sell ActiHi 211 & - [ 1 Mark |

fields - &1l

observed setup - aamuoi W) S0l 8{[
natural setup -§E.2d'1 A2vy
laboratories - Y1I2LL01 1]

The most important feature of a good sample is 1121 ﬂil-Lﬂ'llﬂ | Héﬂﬂ qalsL 8 - [ 1 Mark |

smaller quantity - SN RIED

= correct representativeness - ARl wldletltica
big quantity RN EARTET

= literate respondents - ¥ 1&2 Gdreld )



Sometimes mailed questionnaire is preferable to interview because “YedlsdlR Aod s3d usilddl
®o2c HI2 dy AR S1U B $18L Y - [ 1 Mark |

= it brings authenticity d Nﬂ{sddl ¢ld 8

= it works out cheaper - qd Q-Rd S5IU S

. face-to-face contact is possible - 0] dusS A B

= people return it, immediately - G151 dal dd % Ud 52 8

An observation, uninfluenced by personal bias, is said to be s U{qcﬂst’i, U (Seldld I-LCJSJ,{é?ﬂ
ueillad iefl, ¥1q s&d1d & - [ 1 Mark |

= functional - 5[21[(‘3-[5
= critical - (24

= subjective - [5G &l
. objective-ﬁ.g,ﬁl?-l

Which among the following research method is suitable when the area of research will be large? -
oRUIR Ml otoll (Al H12l €2 UIR «{lAsiiHiell 58 2iltst Uegld AU B? [ 1 Mark |

= Participant observation Method - U] Aadlset uzg(&
= Questionnaire method - Y LcE] l-lic',[a

= Mailing method - Ne (6ol th(,[a

= Sample survey method - siHsll &8l Ueg(d

Recorded date is termed as —ollH1Ad cdlZlWal 241 Id WA IHi 241 & - [ 1 Mark |

Fact - 5 &5lsd
Concept - W16

Label - Auid
Hypothesis - ILCIE{RQH

First-hand study of a small community is called —elileil Hﬂ&lllcn yely slel WAL s&dlHi u1d
&®-[1Mark ]

= ethnology - <{d212113l

= ethnography - 2;12101]3,11{;1

= cthnomethodology - ﬂuoﬂﬂanslql@
» sociometry - %n@llnﬂa

For collecting information about Indian society which method you will prefer? - MLl AL
(a2l Hilsdl YslEd saL UL di 6 Uegld ue 522112 [ 1 Mark |

s Participant observation method RIS RN EX lligfa
= Social survey method - UIHL[¥s A&l Usg[d

= Interview method - &o2R] ut{,[a

= Questionnaire method - USLldE] Ueg [l

Which measure of central tendency includes the magnitude of scores? -350(:121. dERlell SUL HIUML
S1Reil dloidl 201 82 [ 1 Mark |

Mean - Hlel
Mode - H1S
Median - H&S
Range - 0%

The median of the data 3, 7,2, 11,4 and 9 is - . S21 3, 7,2, 11, 4 1l 9 oll HtAS & [ 1 Mark |

=5
= 5.5
= 6
= 6.5



« Researcher review the relevant literature to know -- 2Aldl {12 A0S Aoiltd AllSuedl
Alal s 8
i. What is already known about the topic --- i (AN (2 uédeil « 9 °b1'§’ﬂ<j, 8
ii. Who are the key contributors of the topic -- ii. (cNysil Huw| L& el sl 5128
iii. what concepts and theories have been applied to the topic --- iii ([ANY UR sUL vALE] Ba
Riegidl d1o] s w1l & [ 1 Mark |

1 & 1ii
il & il
1& 11

L, ii and iii

e Which one among the following is not a data collection method? - silAdeiiuiell 56 uiledl daus
Ueg(d o1efl? [ 1 Mark |

» unstructured interview - Nd%@&%é Poey]

» postal survey questionnaire - Uleed 1d usiladl
= participant observation - UEH ] A 501

= research questions - 2iltet usil

* 11 years old children are taller than 9 years old one. It is an example of - 11 Aveli WIS 9 gNali
oL 5] Sl QUL 1Y 8. dof GELSWL B [ 1 Mark |

= Case studies - 53 WYY

= Vertical studies - 53 W6AULY

= cross-sectional studies - 33 {eAULA
= Experimental studies - 54 AWy

e Survey, which is conducted by government or some other officials example survey by statistical
researcher, educational researchers etc. is called - HEI&IQL %} U2 Wealdl F2dls
w[EsIRN) gl21 elel HAIHi 211 B GelsW dil3 AissislA A us, A&i(Rls AAus a1
GlRL udaiel s@aiMi v1Q [ 1 Mark |

= Regular survey - [ (rd ud

= Ad- hoc survey - [uMd ud

= Official Survey - ¥tildlR ud

= Impersonal Survey - Alds Ha:&lQl

e Which one among the following is not a main characteristic of a research design? - EAR ETRITEN .‘slj,
Al [SHLOele Yo qeil «iefl? [ 1 Mark |

= objectivity - G&QY

= subjectivity - | (sccd
= reliability - (A ¥e{lUdL
= validity - Hls¥dl

e “HI’ denotes - "HI' 344 & [ 1 Mark |

= Null Hypothesis - <1l ‘si\dfthQll

= Statistical Hypothesis - 4551514 lj\cft{l?.'%ll
» Logical Hypothesis - duss tgcitua&u

= Alternate Hypothesis - dslcus qg'tuwu

¢ ‘Conversational analysis’ is a part of which of the following methodologies? - dldley GERNIEL
A oflAstiniell $6 Uegldeil s @121 B2 [ 1 Mark |

Ethnomethodology - ﬂuoﬂﬂeﬂsic{l@
Phenomenology - %oﬂﬂoﬂq\@
Verstehen - do&el

Structuralism - 2542 (AAY

Section: Section-B



¢ The word sociology is derived from two words, Latin and .....-.1HI¥L1E 210¢ ol 2lug] Al2el WA
................ uoeluiell Gl Wi & [ 1 Mark |

Latin -Q (21
Greek - 2l$
Dutch - SYU
English - )

¢ Emile Durkheim (}_ivided scope of sociology into thre‘_e parts- Social morphology, Social physiology
and . - Y116 W BN AU ALAeL AasI2la (S1AAA) AR MNUI [Aettlsd sal- AHLlrs
Hlslel%), ALHLEss (52ilEl) Wal [ 1 Mark |

= Social Psychology - Social Statics

= Social Physics - ¥IHL[%¥s ell(cs2Lldl

= General Sociology - AL s eilldsale
= Social Statics - A HL[%5 2254

o Marriage of a woman of higher caste to the man of a lower caste is called -G stldeil #letl (1l
A ldoil YN A18l 64U s&dld 8 [ 1 Mark |

= Hypergamy RIISIER |
» [sogamy - SRS

= Polyandry - Ul @lﬂfﬁ

= Hypogamy - SLguldAl

e Who divided sociology into social statics and social dynamics - $1Q AU IwALAA ALHL[FS
225 wa ALlws duldAladini (aetisel s3? [ 1 Mark |

T. Parson - 2. Ul¥el
K. Marx - 5. H15
M. Weber - 214, A4
A. Comter - ¥. §132

o suggested that society will correct its own defects through the natural process of “survival of the
fittest.” - ¥ YA} I AU "Uldlell ANdal A12Y Id 251 2&diefl" serdl ulsul gl Uldlieil
wiHl) 4uiRel. [ 1 Mark |

= Mills - [Hey

= Marx - HISH

= Mead - HlS

= Spencer - AR

e Robert Merton divi‘(_ied‘_human functions into two types: Manifesf_ functions and Latent functions,
which means - ag{a N2al Hleld s1lA A usiH [AeiLf¥d sul: Aleide 5521 v 2o
55210, Boll el &A1Y & [ 1 Mark |

= intentional & unintentional respectively -N"i&ﬂ iS?.lE.l\LCI,‘s Vol ANBLAL
s united & divided respectively - Nﬂ%ﬂ {Y sl Wl (A L[Fd

» sacred & profane respectively - Mﬂéﬂ. U(ds ¥al Ay g

= strong & weak respectively - QJ{{LSQ Ufaat wa wu(dA

¢ Difference between Community and Association. Mark the incorrect--14&1d Vol 2160l qA4ll
dstdd. Wielel RiEd $21-[ 1 Mark |

= Community is a whole in itself; Association is a part of whole
Yl Uld A5 AYRL B; AR UHAAL A5 1L D

= Community cannot exist within association; Association exists within community -
A2A6etH AYEY MR €18 Sl elefl; AN [RAA-UA UYL lUAHT M [Rcdedd 11d &

= Membership of community is voluntary; Membership of association is automatic -
AYE1Ue] AAUE ARYS B; WAL /A 2Aotedl AeAAL WU D

= Community is governed by customs and traditions; Association is governed through the
written rules and laws -



UYL RALN)] WA UURAHL GIRL AULEd Uld B; AdU6et AlWd (UM A s1ULI1M)
sRidylEd a8

According to whom groups are of two types, primary group and secondary group. -BYoil Vol
ogell 6] Uslell S1A B, Ulel[Hs ogel via &L ofel. [ 1 Mark |

= C.H. Cooley - l. 2. g€l

= Dwight Sanderson - §l82 AoS4el
= F.H. Giddings - 6.2, P[54

= W.G. Sumner - SHEL. ). HHR

..theory suggests that a period of maladjustment occurs when the non-material culture is struggling
to adapt to new material culture.-;_...ﬁ'ltgld 2131& 8% 2l [Giol-6il (s H%*.ﬁ[;i aicl e{l(is
sl Woslcd el HI2 Ay 53] E] S1A AR Aeudel o1l AHAL) &A1Y . [ 1 Mark |

= Cultural relativism - Hi35(ds dl0eldle
s Cultural lag - ui&;[&s Q|

= Cultural diffusion -4i¥5[(ds 4l

= Cultural value -di2s(ds Y&

Mark the correct statement- 311 [Atlleial RilGd $1- [ 1 Mark |

» Folkways are formal norms - clsHioll AUALRS H1Re1 8

= Mores are formal norms - HI12 3UALRS LW &

= Values are essential elements of material culture -I-LC‘?J] fllds Us [detl A1dQUS ded] &

= All forms of social norms are instruments of social control - 1IHL[%$ H12Q1ell AHIH
UL ALHL(FS (AR ALYl

An ex-criminal’s conformity to social norms is an example of - (‘Ld\-LCi. 3151311?.01'1 A L[ws HRel
A18l Ydlddl deof Gel&WU B [ 1 Mark |

= Socialization -4HIY) 53

s Re-socialization - Yeol:-{H1Y) 5

= Primary Socialization - WI&[H5 Y5
= De- socialization - -4 HIP) 581

When a person believes that his culture is superior to other cultures, it is called 2RUIR 518 (Sl
Ulol 8 F deil As(d vio A5[AB1] 5L AV B, AR dol $SAIMi 41A & - [ 1 Mark |

= Cultural relativism - 4i2s[ds Al0eldle

= Ethnicity - d2{l¥dl

= Cultural assimilation - 4[5 [ds AR MALAA
= Ethnocentrism - aﬂd.la[:gfﬁll

.. mobility involves moving within the same status category. An example of this is a nurse who
leaves one hospital to take a position as a nurse at another hospital. - dufdiladiti Antet Reldeil
AU scloll AM1A21 1Y B, Blof Gl NS o1 B B W5 SlRu2d V\Sla 0l
SlRu2dHi ol d¥e] 22l A D, [ 1 Mark |

= Horizontal - SIR»le2d
= Vertical - d[254

» Upward - GUR dR§

= Downward - «{|Qs{] d$§

Joint family in India is characterisedfas an extended Kkingroup by “BYoil [ARAN eLlcdui E{{J,&d
Seulal [ddqd AAULL el d3 e2lidaiii w1d & - [ 1 Mark |

» B.R. Ambedkar -6{l (2. [0S
» K.M. Kapadia - 504, stulsul

= Yogendra Singh - lniq; [Rie

= Irawati Karve - 81ddl sd



The reaction of a child when scolded can be studied under controlled conditions by applying the

EYLY 52 ASIU D, [ 1 Mark |

= observation - r‘;lﬂ&l@,l
» interview - 9e21Y

= questionnaire - Y%l Lo
= Field survey - Walld €]

.....occurs when a newly married couple establishes their home near or in the groom's maternal
uncle's house. - LR &Y B RUIR AlduURE{ld YIld U%lell HIHIelL SR ol¥)Ss WYL o1 S
dAuef €12 @10 8. [ 1 Mark |

Neolocal - (1114154
Avunculocal - Wdoi 156
Matrilocal -1 Fgcasq
Bilocal - “LI4E156

Max Weber defined Sociology as - N5A Aot AU ALRAA ¥ d calvALRid Slj [ 1 Mark |

= Sociology is a positive science of society - UHIYRULLA A {Y %] SSIRAHS (astle &

= Sociology is a study of social facts and collective representation - MH L1 A A HL[S
el Wal AH[E5 1 clell WU B

= Sociology is a study of social action - AH (% AULRA V) A1L[ws (suledl 20U14 &

= Sociology is the science of structure-function of society - HH ¥ L1 AR CREIETR
s1dsf (Asilel B

August Comte was of the opinion that sociology is very near to: - o1 shidell wlGuid edl
AU VLol YWl o12)s &: [ 1 Mark |

= Anthropology - Hle1dRllA

= Social Anthropology - . UlML(wSs HisidQLlAt
= Biology - @qfdsud

= Physics - {l[ds2ll

Which one of the following is the first stage of the evolution of an institution? - oflAst1uiefl sl
ellell Gesildoll UM doiss) 82 [ 1 Mark |

Ideology -[QuRrull

Laws - 514¢&l

Tradition - URURI

Collective Experience - %{ll-jféfs WHd

Which among the following is the indicator of open stratification system? - of| Aot 1M jeil SEi, U;I,C'C'ﬂ
15 URLIEle] JUS B2 [ 1 Mark |

Class - 2]

Caste - %l[d
Ethnicity qefludl
Religion - yy

Which one of the following is ascribed status? - R ETRIE 8?11', V190 2 B2 [ 1 Mark |

Teacher - . Ql&lfs
Husband - U[d
Priest - (U2
Son - Y3

Meanings of the objects-concrete or abstract according to the symbolic interactionist theory 0{
Blumer are: - 0G0l Ai3(ds Bulalsaidie]l Rigid a1 uslel-si(se viedl 1y deil
well &: [ 1 Mark |

= [nnate in the objects - . C{hjbnl-l'l H%uld



= Emerge in interpretative process while handling the objects - C{%(I,Undi AUl 5
duid vefeleelleis ulsAi GeiR)

» Constructed by actors prior to the completion of the action - (sul I-L\Q{ 1Y d ucdl s41s12l
GIRLWelldd M »{1d9g

= Present in the culture - U5 [dMi sl

e 20th Century sociologists in classical tradition indulged in a debate with the ghost of Mar;_x. Who
among the following has stated it? - uLald UUAAML 2041 A€lotl AM 1T LRAA] HIsUelL ¢4cd
A8 yyui Aa L. sflAetimiell 518l d w¥alic 872 [ 1 Mark |

Raymond Aron - oS WRAel

Max Weber - H54 AR

Anthony Giddens - As®llof] Q13

Georg W. F. Hegel - oRl\es SHE, As. g

e Who among the following gave the concept of anticipatory socialisation? - D ERITEER ]
VN A AU SAUeA] vALE W2 [ 1 Mark |

Parsons - Ulded
C.H. Cooly - &4l
Merton - Qs
Pareto -2l

e Who propounded theory of “Internal Structure of Role”? - "('Lﬁlfsl{i, UidRs Hlny" oil ﬁltgid
S1Q1 2% sl &cll? [ 1 Mark |

Nadel -<115¢

Radcliffe Brown - 35(54§ 611Gel
Malinowski - HL[@elld 5]
Levi-Strauss - Qq”l-e@u

e As per Karl Marx, which of the following is considered to be the most crucial element for the class

struggle? - 16l HISA Yoo, adf ey HI2 o{lAstHiell 53 Aleil RIS ded HididlHi 2119 B2
[ 1 Mark |

Class Identity - CREMGIN]
Class consciousness - 1] Adell
Class solidarity -c12[ 25dl
False consciousness - W121 Adsil

e Choose the right arrangement of the following stages of socialization in a sequence from the codes
given below: OPTION: a. Anticipator b. Child c. Infant d. Adult e. Adolescent

ollAoll slsuniell ol sHUL AHIYSWLelL ollAoll dolssiBledl ALY L 6aRil URie 5 a.
WAL b. LS c. [212] d. Yud e. (52012 [ 1 Mark |

= acbed
= ecbda
m cabed
= bcdea

¢ In which form of government, the ruling power is vested with only a few persons? - 2{X51R¢ll $3l
RAUH 1S Al Ui MYS Sl Ul S1d 82 [ 1 Mark |

Tutelary democracy - zgaqﬂ qlsellel
Oligarchy - MICRTEY

Monarchy - 2(2s12LLE]

Political democracy - A%51Y qls211el

e The authority which an officer/individual exercises over his subordinates is known as-¥{ fas1l/
(el Uldleil dlodlotl A [as13124] U B Urilell GUULL 52 O A dd LWL B- [ 1 Mark |

= rational- legal - 51d- 8[°L°ﬂ
= . rational - d532ld



= traditional - UU213ld
= Legal - Slojsil

Rigveda mentions->82deHi GeAW 8- [ 1 Mark |

= monogamy - A sUceileg
= Polygamy - U{g“z\l@'ncq
Levirate - A[dR2

sororate - 12132

Family is a —§§0l N [ 1 Mark |

= Primary group - utllelfs ¥
» Secondary group - Yl (s ¥
» Tertiary group - qcﬂu U

= None - 35 UQl «ifs

Who has coined the term ‘Cultural Lag’? - ‘$®I¢ A2P’ 2164 $18) Gleilcl & [ 1 Mark |

= Spencer - WA

= Ogburn - MR
= Sorokin - . AR5t
. Tayler-éc‘l?.

According to Durkheim, which one of the following is the principal source of cohesion and
solidarity in modern society? - SUlHell Ha, o{lAstiHiell s 211y els HIFHI A Scll 2o
W sdleil Yo ABld 82 [ 1 Mark |

= Repressive Laws - eHels13] sluel

Division of Labour - $iH [cl61121

» Greater intensity of class conflict - qof el qy dldldl
= Expansion of education - Ql&lQl"i GENEIE]

What is the process, under which one culture merges itself with the dominant culture, called? - N
Asld B o Adsld 118 ¢oil 20y & d ulsul Q) sédid 82 [ 1 Mark |

Adaptation - . ¥} 5§61
Accommodation - 144
Assimilation - W1 [R1[1A21e1
Acculturation - ddtlel

Which one of the following is so important for the society that its violation calls for severe
punishment? - oilAstiHiell 53 1% HI2 W2G UEcds] B F dell Getitlol MI2 MISI] UM ALY
82 [ 1 Mark |

= Customs - 52+

= Mores - HI3¥

= Ideologies - [QuRYIRIA)
= Folkways - GlSH19[]

Who has written ‘The Treatise on General Sociology’? -‘{IH oY MH[FALRA U e’ 518l quil 8
[ 1 Mark |

= G. Simmel - Q). e
= V. Pareto - V. U221

= Durkheim -S5&4

» Blumer - . GH

In the view of Pareto, what types of elites achieve power because of their ability to take direct and
incisive action and tend to rule by force? - U2lell Md, U@L el dla wardi Adiefl A vl GI2L
ULl Scllofl AHoil eHdlal SIRE Bal UsIRell Glg Al Uil UIH 52 8 [ 1 Mark |

= foxes - [21ALN



= tigers - dlY
x cows - . LI
= lions - (e

e “Workers of the world unite”, is the exhortation with respect to class consciousness. It finds a

reference in- " [C%cloll SIME12) s 21", A9 Adelloll UM GUL2 D, AU Vs UL HA B- |
1 Mark |

= Rig Ved - 8¢

= Power Elite - Uld2 W[4

= Communist Menifesto - ¥ 131dLE] (communist) ﬂﬁi}s%&]
= Individualist theory - L[SddlE]l Riggid

e Morgan’s name is associated with - H]D‘l-dﬂ LTI eismilq’, & [ 1 Mark |

= Patriarchal Theory - mq%ldlfs ﬁ'li(,l(‘l

s Primitive Promiscuity - wLleH Ul [1—-[%-3?@8'1
= Extended Family - (ddd §¢¢

= Matriarchal Theory - HldtllS ﬁ{i.q.ld

e The ability to repeat the findings of a research is known as - 2iltetell dl?.'%n{‘i [{d?.lQ({cl
sdleil &Hdl d3 wNNud D [ 1 Mark |

= Accountability -¥dl6{&I3]
= Reliability - (A ¥eflAdl
= Validity - Hle¥dl

= Observation - ¥d @] Sel

e Which one is not a measure of central tendency? - 3{!}35%:12-[ ddRle] HIUES oie{l? [ 1 Mark |

= Mean - 43212l

= Standard deviation -Hle1§ [dUdel
» Median - H&a]

= Mode - H1S

¢ Social research utilizing intensive study of a single instance of social phenomenon as data -

ALMLCsS 20Ut Sl dd ALHL[FS eollell V18 % GeleAUell Aelol WALl GUUIL ST |
1 Mark |

Questionnaire - Y% la]
Interview - &e23
Observation - ¥{d@)Sel
Case Study +E

¢ Which among the following is an example of a community? - ofl Aot M jeil .‘s?i Hﬂ&l?-l{‘i Gelsrul
82 [ 1 Mark |

Village - ILIH

Refugee Camp - 212011 (L0412
Marriage - 6

Family - §20

* In which research design hypothesis is not necessarily required? - sUL AA AU [SHL®el
ydy 12011 el «1efl? [ 1 Mark |

Descriptive - AQlelleds
Experimental - W1 EE
Diagnostic - SI4AULRRS
Exploratory - A se1Resl

e A diagrammatic representation of frequency distribution is known as - élfsclf%n Sﬁg%&ldd'l
SIAIAN RS 2211 dLd LAWY D [ 1 Mark |



Monogram 1AM
Hologram- €141 14
Scalogram - ¥qlAH
Histogram - [&21u11

“Felt difficulty in fulfilling role obligations” is known as - "¢} [151e{l Falloi& 12131 Y21 scIui
Y256l wageidl” d3 MW B [ 1 Mark |

= inter role - §o230€

= role variation - G'Lﬁ-lfsl [afdudl
» role strain - (‘;Lﬁ:l.‘sl dlyl

= role ambiguity - @'Lﬁ-lfsl WY BAL

In this each and every item of the population is given an equal chance of being included in sample. -
VLU delledl €385 ardal siyfetiti AMLddlodl AUl dS IUAIMi A1l 8. [ 1 Mark |

Simple Random Sampling - }{Ul sy Awy (6ol
Quota Sampling - sdlel Any(Eal

» Judgement Sampling - sdlel An(dal

= Convenience Sampling - 12195l Any(da

Which of the following is not regarded as the characteristic feature of scientific method? -

o{lAst1Miell 53 Astileis Uegldodl ctei(Bisdl d duldiMi widd «1efl? [ 1 Mark |

= Reliability - (A ¥eflAdl

» Validity - Hle}dl

» Replicability - Ll[?l{sﬁ:l

= Common Sense Observation - §1Hel e Wluxd2lel

Which method has the limitation that cannot be used among illiterates? - $8 U.iqr;ll-l'l Hulel ®
Beil GUULIL 2111 ElSIUI 53] Sl eteil? [ 1 Mark |

» Participant observation - USH ] Hadlset

= Non-participant observation - (04o1- U190l AHad) St
= Questionnaire - usiladl

= Interview - HAlSld

Which among the following is a tentative proposition, the authenticity of which is yet to be
ascertained? - s{lAsiMiell 5y SIMUCLG LWl B, Boil BltUscdl &% Yl [e1(2dd ed el
o{15l 82 [ 1 Mark |

Sociometry - aﬂfélznﬂg'l

Social Survey - ¥IHL[%ss ud
Quantitative method - WIIHS uzg[&
Social statistics - 4IHL[%¥S WisSL



